


Vocabulary~v



k& Sexual Reproduction: reproduction by 2
parents

& Egg Cells: sex cell of the female parent
& Sperm Cells: Sex cell of the mal |
 Meiosis: the process of cell

Vocabulary -



Ch. 3.1 What is
asexual

r‘ction

e




& Itis easy to tell which offspring to which
parents

k& Because of heredity and 1 (s, parents
and offspring resemble eacl

Heredity



w Inherited traits do not act alone to give an
organism its traits

Heredity e



& Individual organisms do not live foreve:

Asexual Re];Mtion



las 041 \/\\) j!i{ﬁj

ividual with the same DNA as the parent

Kinds of Asexual
ReproducticfnL






& For most organisms, a cell nucleus contains its
chromosomes

fructions

Structure of DNA



2 Scientists have been able to see chromosomes

fains millions of rungs

Structure of DNA



& These rungs are made up of just 4 kinds of materials
called bases

Q0

Structure of DNA



have 78 chromosomes

Chromosom&



& The DNA is made up of pairs of

bases
k& The order of the base pairs y

the same four

place to

1 ET'O



k& Two bases fit together to form each rung
k& They fit together only in cert
 Base T can only fit with ba

Base G can only fit with ba

Copying DW



4

. When the cell undergoes mitosis, the DNA “unzips’
and the base pairs come apart

. Free-tloating bases within the nucleus pair
separated bases on the DNA

& The process continues until 2
trands of DNA are formed

['he 2 strands are identical to ti

Q0

Q
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Ch. 3.3 What is
Sexual

RO:ctio

e




& Sexual reproduction is reproduction by 2
parents

& Living things that reproduce sexually have
special sex cells, male: sperm, £

n cell has half the number of chromosomes
‘parent cell

Reproduction by 2 Parents



& The male and female sex cell join in a process called
fertilization

Q

& During fertilization the sperm and egg cell unite to
form a new cell

,\wm})h

Reproduction by 2 Parents



Chromosomes Cell nucleus
from parents ~-—

» During meiosis, chromosomes

from both parents are copied Chromosomes
and paired to exchange portions replicate
of DNA.

Matching
chromosomes
pair up
» This creates a mix of new genetic \ & oeaoTes
o i swap
material in the offspring’s cells. sections of DNA
Nucleus divides into Chromosome pairs divide

daughter nuclei

Daughter nuclei Chromosomes divide;
divide again daughter nuclei have
single chromosomes

and a new mix of
genetic material

Yo




k& A flower is an adaptation that allows a plant to
reproduce sexually

& In flowering plants, fertilization takes place in
the flower

k& The male sex cell is pollen, w

Fertﬂltlonﬂ lowering
Plants



& In animals fertilization can take place inside or
outside the body of the female

& Many animals that live in or near water use
external fertilization

| time a zygote forms and a new individual
farts to develop

Fertilization M‘l nimals



& Only a few of the fertilized eggs in external fertilization
will survive

w2 This can be due to environmental conditions such as
severe weather, pollution or predat

v External fertilization is difficult in 'l

e’s body which is moist

mals like birds and turtles, the zygote develops in
th shells that keep it from drying out and

protected from predators

Fertilization in Animals



& While in asexual reproduction, offsprmg is
identical to the parent cells, offspring of sexual
reproduction share characteristics from both
parents

v Each individual has its own

en they combine the offspring will receive
fraits from both parents

Individuals Differ



k& Asexual Reproduction

@ Simpler, occurs quickly, produces many
offspring in a short amount of timse

oative: traits all come from one p so it is
nore difficult to adapt to changes in
environment

Comparing Sexual and
Asexual Reproduction



k& Sexual Reproduction

@ Slow process
@z Requires more energy

g Must have 2 parents
Produces offspring with
ispring has better chan
nging environment

O

Comparing Sexual and
Asexual Reproduction



Ch. 3.4 How do

genes deter
tr

e



& Since offspring in sexual reproduction get
genes from both parents, it is hard to determine
what traits they will have

& When the genes mix, one versi | show up,
the other won't

g A version of a gene thatr
ther version is called

frait that is hidden is called a recessive trait

e only way to get a recessive trait is for both
versions of the gene to be the recessive version

Dominant and Recessive
Traits




se letter

N organism receive
sive version of a trait called a

aHd Recessive

Dominant
Traits




Choosing TW



A new species of aliens have been discovered on Mars. If one parent has 2 dominant genes for a large
head (L) and the other has 2 recessive genes for for a small head (1), what is the percentage the
offspring has a large head?



.

If a farmer is trying to breed his cows. He has one bull with one dominant gene for aggression (A) and
one recessive gene for calmness (a). His cow also has one dominant gene for aggression (A) and one
recessive gene for calmness (a). What is the percentage that the offspring will be calm



